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SECTION-1I/@Us -1
CHILD DEVELOPMENT AND PEDAGOGY
et faenra oo frgmemes
There are 30 questions in all in this Section.
All questions are compulsory.
WA T FA 30WFE |
et w7 afrard §

1.  Right to Education Act, 2009 states that a teacher shall perform which of the following
duties ?

{A) Maintain regularity and punctuality in attending school

(B) Conduct & complete the curriculum

[C) Complete entire curriculum in a specified time

(D) All of these.

foran @ arfyer afufraw, 2009 ¥ w& st =t Fr=1 ¥ 9 fow <ifae =t gu ++3 € 2
() foaem o fafge 9 @ 999 W 3ufem §H B

(B) USHHFH H HAEH FL Y FET GAN

(©) wol ursuwA H FUiRa T WO S g

(D) T A4 |

2. National Curriculum Framework, 2005 suggests some activities to promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A) Organise programmes to promote an attitude of respect and responsibility
towards women

(B) Teach moral education
(C) Teach peace education as a separate subject

(D) Integrate peace education in the curriculum.

TP weaHe ®@l, 2005 ¥ Wi fian 1 wgan 3 & O oo fewel #F swimr e W ®
e TR A A W | e g s g 2

(a) wfgens? F wit orew v foaet #1 gfo fawfon w07 & fog srdww smafsm f62 9
B) g fasn N gegrn A

() i fen + u& 3o fow & €9 ° dgrn 9

(D) i foen &1 wewsRy H wimfeq fH 9@ |
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3.  National Curriculum Framework, 2005 talks of major shifts from

A
(B)
(€
(D)

knowledge as given and fixed as it evolves and is created
educational focus to disciplinary focus
learner centric to teacher centric

none of these.

TYTE wreToal &) ®9@I, 2005 F aweid w5 T €

(a) T = R A e € ® e e e E ok st o #Y ww #
B) ferw F=x @ farm FE T W
() Toeneff @ @ sHeas wf=a F1 3R
(D) A wE T |
4.  The objective of action research is to
{A]  gain new knowiedge
(B) develop the science of behaviour in educational situations
(C) modify the educational practices in schocel and classroom
(D) all of these.
fraeas ST % IR ©
A) TEAIE S A=
B) WM sl F SR faam w1 fawm
() Toemem aen wan & s Tomet § YR @
(D) 398 Q8@ |
5. In the National Curriculum Framework, 2005 under the heading ‘Examination Reforms'

which of the following reforms has been suggested ?

A
(B)
(@)
(D)

Open book exams
Continuous and comprehensive evaluation
Group work evaluation

All of these.

T Te=E] ®R@, 2005 % o W gl A A i o e qur R e g 2
() e TR e B) &G/ FRAR T S e

(€

wrqfesh FTd TEAR D) AT
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Which of the following will serve as a most satistying defence mechanism for the
physically handicapped individual ?

{A) ldentification (B) Rationalization

(C] Fantasy (D) None of these.

¥t e o =1t & fag 1 § € F9-5 9fe @ o § g9 Saems et ?
()  TERHTRT @B faEwrEw

() sfaereT (0) ¥ HE 7 |

Children's Apperception Test was designed for children between ages 3 and 10. The
CAT cards substitute

(A)  non-living objects for living objects  (B) animals for people
(C) females for males (D) children for adults.

T FETEIY T 398 § 10 T i 3G F AR & [0 & T ¥ ) 3/ wiEe § w1 o
yfaeenfua f&a ™ €

A) TesgAiFWRARFSaagaia (B) @M % ®™|E W AHal H
(€1 Y& % [ W Afgensdi & (D) I & WM R AcTh] H |

In order to nurture creativity, a teacher should take help of which of the following
methods ?

(A} Brainstorming (B) Lecture method

{C) Audio-visual aids (D) All of these.

GoreiTedl & U9er & fole ue etedmryes o =1 § 9 T fafa =6t wgraan ot =fey 2
(&) 97 =i/ faemrEm B) =arer fafy

() TvE-g=1 §Ef (D) I T

Which of the following statements is incorrect ?

(A) Need is not a physiological stage of deprivation
(B] Drive is a psychological consequence of a need
(C) Need and drive are parallel but not identical
(D) Instincts are innate biological force.

AT F-TmFA wE T & ?

(&)  STEvImal S=A1 & I erawen T §

(B) 3TAlg TavHhal T HASHATH qHom §

(C) 3awEH TH AR 99 e §, afesw FEE §
(D) Wewgfaar st dfaw oa § |
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10. Right to Education Act, 2009 specifies the minimum number of working hours per
week for the teacher as

{a) forty hours (B) forty-five hours

(C) fifty hours (D) fifty-five hours,

foren =1 sAfupR srfufam, 2009 § T seamge & faw ~gHaw i s wfa qare fulfa ey ™ #
() e He (B Yaia He

(C) T (D) WO =L |

11. Which statement is not true about interest ?
(A) Interests are innate and acquired
(B) Interests change with time
Q) Interests are not related to capacities and aptitude
(D) Interests are not reflection of attraction and aversion in bhehaviour.
fFaddsh-mamfaFm i am &g ?
(a) el S eik st S et &
(B) =@l 99% ¥ 3TH{ER wEord! Tt &
(© ofedl drgasl Td stfugmast ¥ gty 76 gt &
(D) *fedl =HaeR ¥ ¥y W fawyw & yiafam = € |
12. The attitude is
{A) an emotionalized tendency organised through experience to react positively or
negatively towards a psychological object
(B) a characteristic that is symptomatic to the individual's ability to acquire with
some specified training, some knowledge or skill in a given field
{C) a potential ability of an individual of a specialized kind .
(D) none of these.

sfigfa 8
(A) TF WEHF Y9fa 9 Y & R dfea gt fFdt A a5 % wiq ghem @
e & €9 H gfafwar i §
B) T TE foivar @it =@ # dvaa w1 aftaas @Y R vew & ¥ fafe given, 9=
SYa] WA G =@ o gEa
(© =afd # donE gFar s e fafe gor @1 8 @
D) T ¥ F:E T |
13. In personality as well as intelligence heredity plays
{A)  anominal role (B) a great role
(C)  unpredictable role (D)  fascinating role.
A T qfg F AgET H
(A) AT @ i # (B) wEwEyl Jfaw ®
) AEHEE it # D) omwdE yfawr



D]

7 L-2

14. Which of the following is the storehouse of our unfulfilled desires ?

15,

16.

17.

18.

@A Id (B) Ego

{C) Superego (D) Id & Ego.

fo= s==1efl =) gfd =<1 T, 37 woeRe fea ¥ A FR-w @ ?

@) (B)  31&H

(C) W ¥R (D) TTH T HEH |
Defence mechanism helps us a lot in dealing with

{A) violence (B) stress

(C) fatigue (D) strangers.

1871 O 9gd WEFA &l §

() fém @ fruea 4 (B} == A fgeA A

(C) wFH A faer A (D) sFoAfaEl & frued 4
The personal factor(s) which affect learning is / are

(A) Mass media (B) Peer group

(C} Teachers (D) Maturation and age.
s Y gwifaq FH aren SAfwT FE §

() TER & |ud (B) U9IaEh R

(C) e (D) ufudaw & &g |

A cricket player develops the skill of bowling, but it does not affect his skill of batting.
It is known as

{A)  positive transfer of training (B) negative transfer of training
(C)  zero transfer of training (D) none of these.

T+ fodre faerst stat Aeamsi & wve &1 fFeiaa 2 a9 €, W I8 I9F Joaars & v Hi
wurfad =€ a1 38 Fed §

(a) fauargs wfiemor sm=ro B] fuurcAs e oo

(C) ¥ Whaegor s1=rtor (D) ¥ 4 FE 7 |

Which of the following statements best shows the mental health of a person ?
(&)  Full expression, harmonization & goal direction

(B} Lack of mental disorders

(C} Free of personality disorders

(D) All of these.

e 4 9 S Fu fedl Afe & aafds @reed #1394 9 9 Wi s # 2

@A) ot sifveafs, dnfaro stk amma @5 &t o fdwm

(B) 9EfaF fawrl &1 7

©) =fed * fownl § g

(D) 99 /|4l |
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19.

20.

21,

22.

8 D]
Though number of psychologists like Freud, Plaget explain personality development in
terms of stages but only Piaget talked of

{A)  developmental stages which are determined by the environment
(B) restricted effects of stages to early infant experience only

(C) cognitive transformation to explain stages

(D) none of these.

WA, WS T 377 HATARNTeh] 4 sAihed fam &t fafim srawensil & g=<d & =rew =t § | =y
oret 4

(a) % & faFm 1 dEed amee ¥ fyife o §
B) el o Yoraremen & g €1 aifues wonfaa s ¥, el sraensit % wifaw wvE 19 ¥
() fafum sraeensll = TUmE % f&u dHwHs 9ga9 & a) o &8l

D) T d PR T |

Guilford has given the term ‘convergent thinking’ as equivalent to
{A) Intelligence (B) Creativity

(C) Intelligence and creativity (D)  none of these.
e A ‘ aafrerdt fomae’ w= ot Wi o wm s ® fpan 2

W  dIf= (B)  gSATcHEM

(€ Ife T FerHewD D) THYwE A

Ability of knowing the meaning of problem, weaknesses and gaps related to
environment is a characteristic of

(A)  Gifted children (B) Average children

(C) Creative children (D) None of them.

T % 3 ®) IR S Aad, SR % I, waa ud Riwd F ufa e v €
(A)  wiavraef! Srernl ® (B) T SR HY

(C) TR Al A (D) ¥ ¥ & T |

A college girl developed the habit of dropping the coat on the floor. Mother asked the
girl to get out of the room and hang up the coat on the peg. The girl enters house,
keeps coat on, approaches closet, hang up the coat on the peg. It is an example of

{A)  Chain learning (B) Stimulus Response learning
(C) Concept learning (D)  all of these.

T FeIS S el ASH! A Y W w2 HFA 1 AR I o ¥ 1 ASH K1 A A IHS $a1 fF
FA W 9e el R R B G W M | ASH A AR R FH JAN A T, P FTY W
T F A FHI TWE I F B B Gl W M 6 | A8 Iqew

(A) ST AfTH w5 B) SEH-FgfRa@ Afe =

€ Wy R w5 (D) T E A

LR 501
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23. Extrinsic motivation may include
I. Praise & Blame
II. Rivalry
II1. Rewards & Punishment
IV. Knowledge of results.

Of these :
(Al Iand I (B) L II and III
(C) OnlylI (D)  all of these.
1@ AN A gaRftn fea s

1. weE @ e

1. wfaghsa

I, &R T 0e

Iv. qftomy &1 94 |
TH |
@) 13 (B) I, 113 III
(C) o 1 D)  sAHF s

24. A process in which an individual learns new responses by observing the behaviour of
another rather than through direct experience is known as

(A) Social learning (B} Conditioning
(C} Experimental learning (D)  Incidental learning.
forg wipan # =afe Tl & =aaeR &) 8@ X d@iEdl § 7 5 93 3999 &, %) Fe o @
(A)  wmIfEE Afm B) IAIHA
(© i atfam (D)  oTeRfeTR STfea |
25. The symptom of learning disability is
(A) tendency to escape (B) restless, energetic and destructive
(C)  disorders of attention (D) lack of motivation,
i freifraan &1 wemm &
@ 9 # yafa g (B) 3w, Foia o fawEasd g
(C) 37U gt 91y / faer (D)  HAFETON &1 HFHE |

26. Which of the following statements is not true about development ?
(A)  Development is the product of interaction
(B) Development follows an orderly sequence
(C) Development is individualized process
(D) Development proceeds from specific to general.

A @S- e e F M A g T € 2
@A) foem s=:fea & % € B) fawmm s =afem s@en 1 S €
) =g = e ufwar § ] faere fafem @ wmr= # SR e

LT | PTO.
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27.

28.

29,

30.

10 [D]
Children's thinking is grounded in concrete experiences and concepts rather than
abstractions. It is the stage from
(A) 7 to 12 years (B) 12 to adulthood
(C} 2 to 7 years (D}  birth to 2 years.
STeThi @l Are ST T 3TAEN g A T Wl | @t ¥ 1 e ormeen ¥
A 791294 9% (B) 129 99 %
© 29 7w8d® (D) WP 286 dTH |
Human development is the product of joint contribution of both
(A) parents and teachers (B sociological and cultural factors
(C) heredity and environment (D) none of these.
e faes e S & dmem 1 afoomm 22
(a) AfvuEs T AEIE F (B) wrifee Ud WikeRfaesh SR &1
(C) =YFH T AT H D) & | HE T |
Which of the following is not among the four determinants of intellectual growth stated
by Piaget ?
(A) Social transmission (B}) Experience
(C) Equilibration (D} None of these.
Fr 3 @ B @ & TTER g e w1 i e TE 22
() e e (B) g
(C) et D) T AFE T |
Which of the following is a better strategy for teaching children with speclal needs ?

(A) Discussion in the classroom involving maximum number of students

(B) Demonstration by teacher involving students

(C) Cooperative learning and peer tutoring

(D)  Ability grouping for teaching.

fordry e A W= ) TR ¥ forg Pt ¥ W o et s ST § 2
@A) ofywaq a= F1 AfEfad S g e § F9l ®wE

(B) et %1 wftnfer S g 1w g fAdvm

) Wewrl afenmg qen der it ( wewiedl gra sfer )

(D) FFeaa % fofg Frea snuifia Sqgie |

T
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32.

33.

34.

35.

36.

37.

11
s - II

T - I

et

WaE H Fd 30T § |
|t vy afard ¥

"SI W AW ISH F fow Iugs @
(4) wdl WA Ty Y

(C) e 7 §HA

‘| BTN qETa 1 e ¥

(A)  TTel 98

(C) =ETET

‘rqar g1 STy g o &

(@) FAEE &

(B)
(D)

(B)
(D)

(B)

C) NIV FHFHEIYHFEM & (D)
¥ g9 Ao gE AN §, TF 99 T S Q' F fag swye &

() =-I9R AR o

(€ F-HH N
HAfTET T TEEH wel g ¥ ?
@A) T (TER)

© HgETE
iy w18 i |

(A) o yehe g R

() = ye g
'y @91’ % Jfard o &
() ug-ueht snfy

© femd anfg

LTI

(B)
(D)

(B)
(D)

(B)
(D)

(B)

(D}

STFHTY-ITad T Tl
M R @ o

U1 =&
giat § v g

A T YO T ]
A TG G TH FET

o € e ¥
TR WY R A9y o

TUER I
T | FE T

aend Wehe T &
fafem atd yFe B &

IR S IC |
YT AT |
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38. ‘W& Al YaeA TBT H Wert e’ H fawm

@ e (B)  HaTd

(C) = D) e |
39. 'FETARAE oo FE TR A I ¥ i o W agE am

@A = B) 3R

(C)  Aefren (D)  FAyen |

40. 'TY %o fHem O Y99 e OifEe’ s Oy W o &

(A)  T=EEYH A B  fwa fadhm

(C) TS 3oy (D) foorfeys s |
41, I Ui uw TG ¢ ?

) T B} ®©

) D) =i

42, T = d'H @I R ?
@ Fu B FH
) 3® (o) fa= |
43. T wfrl 1 ' R’ F S ® 2
(A) T F IR H AN gl Ew wiEl (B) WA ®9 W =i et
(C) TR & |y 3 o= wiE (D) b9 & o H oM arel it |
44, fFea=EF'@Ey' g ?
(a) Ty (B) RAg
(€) R (D) wiheEd |
45. ‘gereamEn’ & w@iu-fawe g
(A) g+ B B) I + =A@

(C) T& + B (D) & + B!

NWEARTTHI
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46. ‘Tz =1’ #1 SRy g @

(&)  wEA & A A (B) | & oAt
) fa w1 FRam (D) 78 @ 9 @
47. Tod Fafad g TF |y oAF Wafadl B 95 SH ST W 99, 99 @ Ry wead ¥
(A aftes (B) fomrE
()  ifeE D)  amEEs |

AT : U WA (48 - 50 ) ¥ fou e mRiiw Y v @ 0 ot fR g o vl % s R

FHT 1 R FEY YIS B0 € | 98 hadt Hifa i wggfh @ € 9w €« st afg
%1 o o e @ | foeE g Tew Y dufa afe g6 g @ 9w I8E R F St gemnmt & wnm g,
S 39 feA-Ua raHia & g H et St ot afg =t @it Y wew 24 At "g % guE g,
St 39 R 3Afa it SR IS S

48, TH TRV & WHS BN

(A)  FEIH HE B) = wly

© gfa (D) 5o qEW |
49. 'HHn w1 54 ¥

(A FIE G B) Y & Wi

() e % aef (D) g Efa 1‘
50. 39 TER F FEEG WE §

(Al gl &1 JEd (B} garqew

) =ifa ok aggha (D) &AM |
51, ‘®' R 'F o' o s F g € ?

@) IS FE B) & FH

C}) FURHE FRH (D) FAET RS |
52. ‘weyg’ ot ‘fadm’ fheas o § 2

() A B) =

€ v (D) &4

IR [ PT.O.
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53. 'dgEt A TE F H Uiy TEh @ — 39 9 § 3899 ¥

) o B)  dgeeRt

© 3= (D) 6= |
54. ; form fag =19 m &

A g form B) T

(C) o9 faum D) ®& 9 |
55. Tl *feT w=s &1 v 0 & faq g fm g v wdm e ¢ 2

(&) foatw fag B) frdw

C) wEE (D) <9 fowm )
56. 'vHY' VI F1 qRT & FO

w e B) =g

) g D) TE
57. foudm ot o1 Ny A 9 A= T wEd

Ay IgEETE! = B) foom =

(C) waFES w D) THhF = |
58. ‘mul’ vz &1 e T g ¥

@ @ B) 3T

© fa D) & |

59. WHIF ¥ ‘&A1 gFtTar = 8 ?

A S (B) g

(C} wAfEs D) Y |
60. 'foue ¥ 9 O @ W 7' F fOu uw W= g

@w " B) =EH

(C) = (D) STFHIER |

(U T
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SECTION - 11
LANGUAGE 1
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

31. The opposite of the word ‘support’ is

(A)  help (B) argue

{C) oppose D) return.
32. Which word is opposite in meaning to ‘interesting’ ?

(A)  confusing (B) boring

(C} contrasting (D)  pleasing.

33. Choose the word with the correct spelling :
{a) fenancial (B) financiel
{C) finencial (D) financial.
34. Pick out the word which has been correctly spelt :
(A)  situetion (B) setuation
(C) situation (D)  situasion.
35. Which one of the following phrasal verbs means ‘'to stop doing an activity or a job' ?
(A) take up (B) run down
(C1 give up (D)  look for.

36. Which one of the options will complete the phrasal verb in the following sentence ?

ITLhad to flll ......ocoieiiiininnans three forms to get my driving licence.
{A)  up (B) into
() down (D) over.

37. The passive voice of ‘We make butter from milk’ is
(A)  Butter is being made from milk
(B) Butter has been made from milk
(C) Butter was made from milk

(D) Butter is made from milk.

LT | PT.0.
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38. Which is the correct passive voice of the following sentence ?
They have painted the door.
(A)  The door was painted (B) The door has been painted
(C) The door is painted (D) The door be painted.
39. My sister said, “I am enjoylng my work.”
In Reported Speech the above sentence will be
My sister said that
(A)  she was enjoying her work
(Bl I was enjoying my work
{C) she was enjoying my work
(D) I have been enjoying my work.
40. Which one of the following words is a verb ?
(A)  Sympathy (B}  Sympathise
(C) Sympathetic (D) Sympathiser.
41, Fill in an appropriate determniner :
.............................. first item in today's programme is a song.
(A} The {B) A
C) Any (D)  Some.

42. Supply the correct form of the verb in the following sentence :

She .ooiiviiiiiiin, a new dress last week.
{A)  has bought (B) has been buying
(C) buys (D)  bought.
43. Which one of the following sentences has the correct verb form ?
(A) They already seen the film (B)  They already saw the film
(C) They will already see the film (D)  They have already seen the film.

44. May I enter your office ?
In the above sentence ‘'may’ has the meaning of
(A) permission {B) possibility
(C)  probability (D) order.

(T
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45.

46.

47,

48.

49.

50.

51.

17 L-2
Note : Please read the following stanza to answer Question Nos. 45 and 46 :

“The Jamuna's waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O ! If the storm breaks, what will betide me ?
Safe from the lightning where shall I hide me ?
Unless Thou succour my footsteps and guide me.
Ram re Ram ! | shall die.”

“Like black birds” in the above lines in as example of

(A) metaphor (B) simile

(C}  hyperbole (D) pun.

We can find an example of alliteration in the above lines in

7\ Ram re Ram (Bl I shall die

(C) The Jamuna's waters (D} The shadows of evening.
An elegy is a

(A) sad poem, usually about someone’s death

(B} love poem

(C) prayer

(D) poem about somecne’s marriage.

The phonetic symbol for the first sound { underlined ) in the word ‘ship’ 1s

@w /7 By /sh/

€ /ch/ o st/

Direcltion for Question Nos. 49-50 : Pick out the correct phonetic transcription of the

following words :

Pick

A /plk/ (B) /piik/
© /plk / D) / plkk /.
Try

A /trl/ B) /tral/

c  /trii/ (D)  /trae/.

Rahul said to Veena, “Please return my books early.”

In Reported Speech the above sentence will be

Rahul requested Veena to

(A)  return her books early (B) return my books early
(C) return his books early (D) return their books early.

NHINANTT [ PTO.
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52. Which one of the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.
(A)  India has many beautiful buildings
(B) The Taj Mahal is more beautiful than any other building in India
{C) India has only one beautiful building, the Tal Mahal
(D) The Taj Mahal is a beautiful building.
53. Pick out the correct '‘wh’ question :
(&) How much money do you want ? (B) How much do you want money ?
(C} How much do you money want ? (D)  How much money you want ?

54. Which one of the following words is similar in meaning to ‘purchase’ ?

(A)  Buy B)  Sell

(C) Receive (D)  Supply.
55. The word ‘inspection’ is similar in meaning to

(&) interview (B) exercise

(C) getup (D) check up.
56. To express ‘mecessity’ we use the modal

(A) may (B) must

(C) can (D)  might.
57. Complete the phrasal verb in the following sentence :

I usually go to bed early and also get ..................... early.

(A) out (B) off

{C) up (D)  into.
58. Which one of the following options will compiete the phrasal verb in the following

sentence ?

The train slowed ..............co.ocnil and finally stopped.

(A) up (B) over

(C) about (D) down.
59. Pick out the phrasal verb which means ‘'to take care of" :

(A) run after (B) look after

{C) runinto (D) look for.

60. Complete the phrasal verb in the following sentence :

The tourist guide pointed ..........ocooviiinianns the most important buildings.
(A) in (B) out
(C) off {D) on.
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SECTION - III
LANGUAGE 11
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

The opposite of the word ‘familiar’ is

(A) related to a family (B) personal
(C) strange (D) unfriendly.
The word ‘creative’ is opposite in meaning to

(A)  destructive (B) positive
(C) artistic (D) pessimistic.
Pick out the word which has been correctly spelt :

(A) obidient (B) obediant
(C] obedient (D) obidiant.
Which one of the following words has been correctly spelt ?
(A) gramar {B) grammar
(C) grammer (D) gramer,
We decided to put off our visit to Kashmir till October.

‘Put off in the above sentence means

(A  arrange (B) plan

(C) reject (D] postpone.
There isn't enough money, so we must cut down expenses.
‘Cut down’' in the above sentence means

(A) reduce in size or amount (B) stop

(C} increase in size or amount (D) revise,
They are repairing the bridge.

The passive voice of the above sentence will be

(A)  The bridge is repaired (B) The bridge are being repaired
(C) The bridge is being repaired (D) The bridge has being repaired.
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Pick out the correct passive voice of the following sentence :
They carried the injured player off the field.
(A}  Off the fleld was carried by the injured player
(B) The injured player was carried off the field by them
(C) The injured player be carried off the field
(D) The injured player has been carried off the fleld.
He said, “Kavita, when is the next train ?”
The ahove sentence in Reported Speech will be
(A) He asked Kavita that when the next train was
(B) He asked to Kavita when was the next train
(C) He asked to Kavita that when is the next train
(D} He asked Kavita when the next train was.
Which one of the following words is a noun ?
(A interesting (B} develop
(C) teacher (D) brave.

Fill in the appropriate determiner :

i havenot got ..................e. money in my bank account.
{A) any (B) a
(C) afew (D) few.

Supply the correct form of the verb ‘remember’ in the following sentence :

your name.
{A) am remembering (B) remember
(@) was remembering (D) have remember.

Pick out the correct verb form :

She was walking along the road when she ........................ him.
{A) met (B) have met
({C) was meeting D) meet.

Supply a modal which expresses ability :

All of them ........ccevvvinnes speak three languages.
(A)  may B) wil
Q) must (D} can.
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Note : Read the following stanza and answer Question Nos. 75 and 76 :
“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,

Harp of my country, let me strike the strain !”

75. The line ‘Like ruined monument on desert plain’ is an example of

(A)  simile (B) metaphor
(C) elegy (D) hyperbole.
76. Which one of the following phrases gives us an example of alliteration ?
(A)  harp of my country B) strike the strain
(C)  with her fatal chain (D) desolate art thou.

77. A sonnet usually contains
(a) eight lines (B) six lines
(C) twelve lines (D) fourteen lines.

Direction for Question Nos. 78-80 : Pick out the correct phonetic transcription of the
following words :

78. Like
A /lalk/ (B) /1k/
(C) [laizk/ (D) Jlu:lk/
79. Tree
@ /trl/ (B /tre/
e /iy ()  /trel/
80. These
(A) /dls/ (B) /0i:z/
(G /e8lz/ D) /oiz/.

81. The doctor said to me, “Do not swim in cold water.”
In Reported Speech the above sentence will be
The doctor advised me
(a) do not swim in cold water (B) that do not swim in cold water

(C) not to swim in cold water (D) to not swim in cold water.
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Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle.
(A) My uncle is the wisest person in my village.
(B) There is no wise person in my village.
(C) My uncle is the only wise person in my village.

(D) My uncle is wiser than some people in my village.
Pick out the appropriate question tag ior the following statement :
You didn't see him.

(A) didn'tyou ? (B} did you ?

(C) isn'tit? (D) aren't you ?

The word ‘advocate’ is similar in meaning to

(A) adviser (B) scholar

(C) supporter (D) lawyer.

Which one of the following words is similar in meaning to the word ‘precise’ ?
(A)  brief (B) exacl

(@] precious (D) expensive.

We must come back by six.

‘Must’ in the above sentence expresses

(A)  possibility (B) advice

(C) desire (D) necessity.

Complete the phrasal verb in the following sentence :

You may iry hard to hide the truth, but one day the truth will come ............ .

(A) in (B) over

(€} out (D)  at.

Complete the phrasal verb in the following sentence :

People have been complaining about the prices going .................. everyday.
A up B) through

(C} alfter (D) in,

Complete the phrasal verb in the following sentence :

Many parents were at the rallway station to see .................. their children.
A away B at

(C) off (D}  after.

Which one of the following phrasal verbs means ‘to remove’ ?

(A put on {B) take off

{C) putup (D) get off.
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(A) fafenm w3 se (B) &< 2 fepne
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SECTION - IV / @Us - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

™ @S ¥ ) IqEve Yfq IV(a) T AU faqm w& IV(b) wraifee: stemaa ¥ | 9N STEvEl & WaT
T 60 dgfasheda 797 § |
Tdenet @1 Iv(a) WUt e fage SteET Iv(b) ArfeTer 3reas, {Saen w99 eTHeda amaeT 99 § far
2 U 9 frdh = 3TEve # g € @ 9t 60 WEA w1 IW A
SECTION - IV (a) / @UT - IV (a)

MATHEMATICS AND SCIENCE / Tifota aer fagm
There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

79 Tvg H 3@ 60 WA € | o srafial A 3w fawa &1 wgm TR @ 5= ueft v e st @

91. If the arithmetic mean and geometric mean of two numbers a and b are equal then

(Al a+b=ab B a+b=+vab
€ Ya+b = ab (D) a=hb.
Tfe fF=l & T=mel aqd b TURR WA a9 UIRR T e, @
(A)] a+b=ab (B} a+b=+ab
) JVa+b = ab D) a=b.

92. What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of
1 % years, if the rate of interest is calculated on the basis of six months ?

(A) Rs. 6,566 (B) Rs. 7,566
(C) Rs. 8,566 (D) Rs. 7,577.

48,000 %0 F 10% FI R 4, 1 lad %1 wwgfg = F=01 B, Afe = N W B: W F fewm
q W ?

(8) 6,566 %o B)  7.566 %o

(C) 8,566 %o D)  7.577%o |

93. A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it
by 10%. He then sells it by giving a discount of 10% to the customer. The price at
which he sold the article is
A} Rs. 100 (B) Rs. 101
(@] Rs. 99 (D) None of these.

T THTER Tl T %1 qod, T arwfas qed 100 To ®, 10% gE 3ifthd &1 & | 9%
39 I8 W 10% FHHYA TH WeF 6 9@ §, o ST 9% 9% fhad Fo H o ?

() 10070 (B} 101 %o
C© 99%o (D) T € = T |

LT [ PT.O.



L-2
94.

95.

96.

68 [D]
Which of the following statements is incorrect ?
(A)  If the four quantities a, b, ¢, d are proportional then axd =bx c.
(B) If a, b, ¢, d are proportional then ac = bd
(C) The inverse proportion of proportion a: bis b: a
(D) If three quantities a, b, ¢ are in geometric progression, then b? = ac.
=1 § 9§ w9-9 e e § 2
A AR a b, o, dFHETA E, W axd=bxc
(B) afg a, b, c, dTATYRA ¥, W ac = bd
[C) ¥ U a:b® THFATIAE b: a
(D) afz UMl @, b, ¢ TOR SOt & §, @ b2 = ac.

The number of members of an institution is 2500. If the number of members in first
year increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

(A) Neither decrease nor increase (B) Increase of 25 members

(C}) Decrease of 25 members (D) None of these.

et e o wewl o1 W& 25008 | AR aw EEn weA aY H 10% SRl ¥ awm g g H 10%
e A €, @ 9N & a5 wewl & g # fhat gfg s 7 2

a) A gfg T F (B) 259 & gf&
© 259cEl @ FH (D) 798 9 ®E T )

Alternate angles In the given figure, where two parallel lines are cut by a transversal,

are
3/ 4
5/ 6
7/8
A) (1,8)and (2, 7) (B) (1,2)and (7, 8)

@ (2,6)and(1,5) D (1,5)and (7 3).
& gu foq A <) guim vast & Fed Tt fd® vE & Wy 99 g TR i E

1/2

3/ 4

5/ 6

7/8
A (1,8)dw(2,7) B (1,2)d9w (7, 8)
C) (2,6} du(1,5) (D) (1.,5)a®w (7, 3).

E



[p]

69 L-2

97. In the following figure, the value of angle ¢ is ( here O is the centre of the circle )
D

(A
(€

A B
60° (B) 20°
30° D) 40°,

fAgufmdisavom oAt (W OTWHFFRE )

(A)
©

D

£\

S

B
60° (B) 20°
30° (D] 40°.

98. Which of the following statements is incorrect ?

A

B)

(C

(D)

The angle subtended by a chord of a circle at the centre is equal to the angle
subtended by the chord at any point of the circumference of a circle.

The lengths of the chords situated at equal distance from the centre of a circle
are equal.

The angles subtended by a chord at different points on the circumference of a
circle are equal.

The perpendicular drawn from the centre of a circle on a chord, bisects the
chord.

= d | #H- T A R ?

A

(B)
(C)
(D)

frdt 99 o & SE1 g F= W IR0 T S0 I Sfan g iy & fed d e
T T FIO F qO S g

frdl g9 o &= | TR g8 W e sHanstl 1 T s g €
et 9a o W <hen gry ufify & arerr-otem famgsil W S T S0 SeR B §
ot ga o = | TH a1 W S T T NG F qniganfea war €
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Given UZ = 5 cm, XU = 4 cm, are sides of the rectangle XYZU.
The area of parallelogram KLZU is

X K Y L
U Z
(A) 20 cm B) 10 sq.cm
(©) 20V2 cm (D) 20 sg.cm.

MG XYZUS! Y UZ = 591 7o XU = 49 §,
W WHR 9gYS KLZU 89%d #

U Z

@ 209 (B) 103 ¥

(© 20V29HH (D) 209 A |

Hero’s formula for the area of a triangle with sides of lengths a, b, cand s =a—+2jbj
is

(A} abe (B Vs(s-a)ls-b)(s-c)

() V(s-a)(s-b)(s-c) (D) %xBasexHeight.

et Fre % &t ¥ fore ot Ao @, b, o W, T MG (7 s = LELEC )

(A} abc B) +Vs{s-a)(s-b)(s-c)

© V-a)(s-b)(s-¢) D) 5 x MR x $< |

The graphical representation of data in which data is shown by rectangles drawn on
X-axis as base, which are of equal width and the space left between any two
rectangles is same, is called

{A) Histogram (B) Frequency polygon

(C) Bar graph (D) None of these.

AMHg *I T@Erasd g TR F &1 9% fafy food o 37 ol g weffa fvd s €
forehT auR X-o181 B, TS svR ster e & & < ofEdl & 9§ Siel T E 9
g, Feam §

@A) emEata ( fe=mmm ) (B) SRSl SgY

(© w9 Tw D) ¥ 3 A & |
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102. The values of marks H\H and u/./} are

A) 5,5 (B) 5, not defined
(@] not defined, 5 (D) 3, 3.

fagl H\H ikl u/ﬂ 1 AE &

@& 5,5 (B) 5, aftuifd =1 2
(C) suRviyg, 5 (D) 3, 3.

103. If the data to be represented graphically on Y-axis are in lacs as 1-5, 2.1, 2-7 and 3-3
then which of the following is a suitable scale of choice for one unit ?
(A) Rs. 50 thousands (B) Rs. 30 thousands
(C) Rs. 40 thousands (D) Rs. 60 thousands.
AE Y31 W UTHE €9 § weifa frd o am offwe W@ 4 1.5, 2-1, 2.7 941 3.3%, @ wh
3T 1 Yef¥la W & AU 39 W19 ( her ) FH W I ?
(A) HOTIR To (B} 30 B9R ®o (C) 40%S To (D) 60TIN To |

104. In the given circular graph, the decreasing order of the expenditure incurred on
various heads is

Food

Clothes

Savings

Education

House Rent
{A)  Education, Savings, Clothes, House rent, Food
(B) Food, House rent, Clothes, Savings, Education
{C) Food, House rent, Education, Clothes, Savings
(D} House rent, Food, Education, Clothes, Savings.

foet o famt & fafm 78 W fofan 9 omen o9, el wH A ¥

(a) foen, s=@, $98, T e, @ (B) @, " TR, 98, a=a, fen
(C) T, T T, e, 98, 9= (D) Wmmﬁlmm@aﬁa|

NIRRT [ PT.O.
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105. The lengths of 35 leaves of a plant are measured correct to one millimetre, and the
obtained data is represented in the following table :

Length ( in mm ) Number of leaves

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
1s it correct to conclude that maximum number of leaves are
(A) 153 mm long (B) 145 mm long
[C) 149 mm long (D) none of these.
el I8 w1 35 ufadl &1 =R & Aide T ot a w8l w9 | = wifon § €

wrvag ( fad & ) ufva st HEr

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
w1 % Fe T ¥ i srfrentea: o $
(&) 153 furft w=ft (B) 145 ot @it
© 149 faet @ (D) ¥ A FE T

106. The system affected by AIDS disease is

(A)  Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system.
TgE O | wwfEd e aen 99 © '
@A) 9 T (B) vaEA A
(C)  FIF = T (D)  wfaRem o |

107. “To every action there is always an opposite and equal reaction.”
The statement is known as

(A) Newton's first law (B) Newton's second law

(C) Newton's third law (D) none of these.

“ye TR % wia faale wd u weE wiate g ® ) 56 w5 I Fed B

(&) A % uw fam B) =g i e frem

(€)= e fram (D) T A wE T |
108. The rate of doing work is known as

(&) Force B) Motion

(C) Power (D)  Energy.

F14 FE Bl T FEAN ©

(A 9 B TR

©c s (D) S
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113.

114.
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Which method of heat transmission does not require any medium ?

(A Radiation {B] Convection [C) Conduction (D) Diffusion.
T HeRw & wE-4 fafy F weam & v 71 et € 2

(a) fafego (B) Haed

() e (D) fago |

With the increase of pressure, the boiling point of water

(A] increases B decreases

(C) remains unchanged (D) none of these.

T 3fg & WY 9H = s

(a) W@ @ (B) e ®

(O sfREfia wa & (D) 7 @ wE T )

Frequency of ultrasound is

(A) <20Hz (B) > 20 Hz and < 20,000 Hz
(C) < 20 Hz and > 20,000 Hz (D) > 20,000 Hz.

LTSS FHI g el &

(A) <20 Hz (B) > 20 Hz 991 < 20,000 Hz
(C} < 20 Hzd4 > 20,000 Hz (D) > 20,000 Hz.

Pitch of sound depends on

(&) frequency (B) wavelength

(C) velocity (D) Intensity.

w1 &1 aRe e o §

@A W W (B) Tew W

© MW (D) e W

The number of magnetic lines of force passing through a given area is known as
(A)  Magnetic Induction (B) Magnetic intensity

(C) Magnetic flux (D) Magnetic moment.

& T &3 | O Tl TR 9 @S w1 € Sean! §

(&) TEEHE WO (B) == e

(C) THIg T (D) =g e |

A bulb [ 100 W, 200 V } is connected to a voltage of 160 V. The power dissipation is
A 64 W B 100W ()] 32w (D) 160 W.
W oo ( 100 W, 200 V )&l T& 160 V Iieeal & @1 Sirel 7 ¥ | ufe gr& g
A) 64 W (B) 100 W (C) 32w (D) 160 W.
One kilowatt-hour is unit of

(A)  energy (B) power

(C) electric charge (D) electric current.

T fheiae-se fHas amE 7 2

@A) S A B) UEw

(C) TYA AW H (D) SFA 9 H

LT [ P.T.O.
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116. The gas responsible for global warming is

@A H, B cCo,
© NO, D) SO,
fava Fom & foau fomier i ¥

W H, B CO,
© NO, (0) SO,

117. The atomic number of a nucleus is equal to
(A) number of electrons + number of neutrons
(B} number of neutrons + number of protons
(C) number of protons
(D) number of neutrons.
¥ T THIY] SFHih STER B €
(A) TRl @ WA + JIEA ot W
(B) =g Sl W& + W Sl §E
(©) R &I "

(D) =g &t HE& |

118. If acid burn occurs in the laboratory then wash with plenty of water and before
putting vaseline which of the following first-aids should be performed ?

(A) Wash with sodium bicarbonate solution and again with water
(B} Wash with 1% acetic acid or lemon juice

(C) Clean with silver nitrate

(D)  Put simple salt.

e § o @ e W ST Ie @ e =i aon e v @ g Freitafed § @ Sw-a
TYfH® ITAR FEAT AMEY ?

(a) wfeay IEFEHe B9d § @ I 99 9 e
B) 1% THifeH 7 F Al & W H A

€ oo e & |1% F

(D) EYURY THH AWM |

119. A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called

{A)  Aquarium (B) Museum

(C} Terrarium (D) Forest.

€ [ W81 Bl S W — <ioeh, TEEl, Fg T IAH WYE F HER I 9 ¥, 99 FEd €
()  STA-SirEeen (B} W™

€ fEm D) T

i
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120. Which of the following statements is not correct ?
A Aims are directives in the educational programmes
(B) Aims could not be achieved only by school programmes
(C} Objectives can achieve by school programmes
(D) Aims and objectives are same.
e 4 @S- ww w8 R/ 2
() foen s A stvw fam fdvm & w1 @ €
(B) Fae Tl wEshy gR1 S29 WIw el T Hehd
(©) W st faamert sdshy g1 wiw fFd < g
(D) ¥ TE W Ie¥d €A ¥ |

2
121, The simplified forms of 22° ,(22)22and[222]2are

(A) 216’44, 162 (B) 44.28.82
(C) 2 ]6’ 28' 82 (D) 16 2’ 44‘ 2 16-

2
w227 (22)2%qm (22° ) *mwmwn d
(A) 216,44 162 B) 4428 82
(C) 216,28 82 (D) 162,44, 218,

122. The factors of expression [x2-2xy+ yz]_zz are
(Aa) (x+y-z){x+y+2z) B) (x-y-z)(x-y+2z)
) (x-y-z)(x+y+z) D (x-y-z){x-y-z)
Eﬁ'\?ﬁh‘[xz—2xy+y2]—22#‘{[ﬂ'ﬁ'@“€%
(a) (x+y-z)lx+y+2z) (B) (x-y-z)(x-y+2)
Q (x-y-z)lx+y+2z] (D) (x-y-z}(x-y-2z)
123. If ax? + bx+ ¢ =0 is an identity in x, then

_ \Jp?- ' -

A x = b+ 2b dac (B) c=0, x=0, x= —b
a a

©) c=o.x=%, x=% D a=0b=0,¢c=0.
qfe ax2 + bx + ¢ = 0, x¥ TH TEFHH &, |

— ‘\/ 2 _ —
) X = b 2b dac (B) c=0, x=0, x= -b

a a
-b b _ N _

Q) c=0,x=T, x=5 (D) a=0,b=0,¢c=0.

124. The numerator of a fraction is less by 2 than its denominator. 1f we subtract 2 from
the numerator and add 2 to the denominator, then the new fraction obtained is % .
What is the original fraction ?

7 3 5 1
W g B 5 @ = D) 3.
T i o g, WA 2w e 1 Qg s oim o 9 2w fear 93 s s o 2 < feon -,
T T YR W = i %% 0 arfer i R

7 3 5 1

9
LT [ PT.0.
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125. If we divide x% - y? by x -y, then the quotient and remainder are respectively

A x3+x2y+xy?+yd, 0 B x3-x2y+xy?2+yd3, 0
) x3+y3, x2y+xy? D) x%-y3, x2y-xy2
e x - y? W x -y R T A ITRA SR RS FwE:

A x3+x2y+xy?+y3, 0 (B) x3-xZy+axy?+y3, 0
€©) x3+y3 xZ2y+qy? D) x3-ys3 x2y-xy2

126. Two cars X and Y are moving from a point A to the point B which are 50 metres apart.
If the speed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
to reach to the point B are respectively
a) 2 sec, b sec (B) 500 sec, 750 sec

1 1

[C) 5 sec, 2 sec (D) 5 Sec, 5 sec.

3 fagall Adw Bfows o9 #1 gt 509X §, 9+ xaw yaemt § 1 3fg xt wfa 10 #/R
TN Y TG 25 T/R B, @ ST H 5 AY IO B TF g9 H A el GHG HEW: TR

@& 2% 5% (B) 5008, 750¥
€ 5% 29 D £® 59
127. Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Ram and Shyam will get respectively
(A) Rs. 7,650, Rs. 5,610 (B) Rs. 5,610, Rs. 7,650
(C) Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100,

13,260 o &1 U9 3R v § 30 yor fawfsa s fF afe ta ) 11 %0 fadt @t w1 15%0 |
¥ YR & favareq o W 3R vam ) o fasn

(A) 7.650 %o, 5,610%0 (B) 5,610 %o, 7,650%0

(C) 5,100%0, 8,160%F0 (D) 8,160%¢c, 5,100%F0 |
128. Which of the following is incorrect ?

(A) The point of intersection of medians of a triangle is called centroid

(B} The point of intersection of perpendiculars drawn from the vertices of a triangle
on the opposite sides 1s called orthocentre

(C) All the three bisectors of angles of a triangle intersect at one point

(D) Median of a side of a triangle is perpendicular bisector of that side.

1 4 | F19- FF smE § ?

) el fye #t o @ sfrse o S Feam @

B) fFdt e ¥ v @ 9mm ol o W s T T # wiawy fag o e el ©
) foet = 4 991 S % snfgves & foag W firem €

(D) Todt oy & oo & TifgeRT, IW O W T gt € Ud I8 wuiganfom Wt ¥ o
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129. Which of the following is not the condition of congruency of two triangles ?
(A) The three sides of a triangle are equal to the three sides of the other triangle
respectively.
(B) Two sides and the angle included between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.
(C) Two angles and the side between them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly.
(D) All the three angles of one triangle are equal to the three angles of other triangle.
=1 A 9 wE- v < Fyel w5 wahEa & fae g T R o2
@A TF S F A e wEw: g e #1 A= yemetl % Ser €
B) TF S F @ T @@ ITF A F A0, W O F Q onsil @ 3 o F woF
T T
€ T& 3 & For ok 7F N F g, TR YT F A F0 R ITF 9w/ G F
e
(D) TF 35 & A B, TR 3= F A Hon F s g
130. 1If each angle of a quadrilateral is less than 180°, then it is called

{A) concave (B) convex

(C) parallelogram (D) trapezium.
frEt T s S0 aE 180° | FU €, A 39 S =1 Fed §

(4) IAEdd (B) 3l

(C) TAFH (D) wEEY |

131. A triangle and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm and parallelogram stands on the base

28 cm, the height of the parallelogram is '
(A) 12 em B} 16 cm C) 14 cm (D} 6 cm.

T fie ok Far wge 1 STUR wd SR T ¥ 1 Al e # qend w26 A,
28 ¥ qen 30 A ¥ iR wER S w1 oMER 28 Ui Al on ¥, @ AR =g @ SR
gt

& 129 B) 1694 © 149 (D) 69 |
132. In general a book is a solid figure, known as

A) parallelogram (B) cube

(C) rectangle (D) cuboid.

GIYROEEl T fohae U 39 aTRfq ® forge -

(a) A =gy B)

Cy 394 (D) 9919 |

133. Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side
5 cm will be required for it ?
A 9 B) 18 (®) 27 (D) 30.
TN T 39 ¥4 T Aedr & et oo 15 ¥9t g | 3% fow 5 9 oW 9t A SRR
THI| I STEvIRAl Tl 2
(A) 9 B) 18 {C) 27 (D) 30.

(L T [ PT.O.
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134. The volume and curved surface area of a right circular cylinder are

(A} 2narh, nr2h B) =wr?h, 2rrh
(C) % nr2h, 2nrh (D) =wr?h, nrh.

T FHHIVIY JF AT H G0 @ T5h IS T 4AFA §

(A) 2nrh, nr2h B) nr?2h, 2nrh
© Larzh, 2nrh (D) nr2h, arh.

3
135. The value of n is given as follows :
3-14159265358979323846264307

The most and the least frequently occurring digits after the decimal point are

respectively

@ 3,7 (B) 7.3
© 3.0 D) 4, 1.
nh AF A e gan #

3.14159265358979323846264307
TIHAE o € Fod Wel 3R w98 %9 91 3 9 3% wae: ¥

@a 3.7 (B) 7,3
& 3.0 (D) 4, 1.
136. In a typical plant cell the position of nucleus is
(A} Central (B) Peripheral
(C] Basal (D) anywhere,
Teh WrEdt TIed hifvre O e ot feufa g @
(A A B uRYUE
() uRHE (D) e o
137. Which of the following cell organelles is known as powerhouse of the cell ?
(A}  Nucleus (B) Nucleolus
(C) Golgi body (D) Mitochondria.
fam § 9 forg wifm = Sifvm & afere s 9 @ 2
@  FE (B) =
(C) Tiesil Fra (D) TR |
138. The longest stage of mitosis is
(A)  Prophase (B) Metaphase
(C) Anaphase (D)  Telophase.
Ut faure o gy ot weeen §
(A W B) WeTHS
©) TR (D) ArES |
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139. Viral disease is

(Al  Polio (B} Plague
(C] Cholera (D) Typhoid.
A FHE U R
(A fer B) =
C) e (D) TERES |
140. Which of the following deficiencies in food causes night-blindness disease ?
(Al Protein (B) Fats
(C) Vitamin A (D)  Vitamin C.
T F i@ frast s A @ masm § 2
(Al WEH (B W
) faafg A (D) fe=ifim C.
141. Property of sublimation is found in
(A sodium chloride (B) calcium chloride
(C) ammonium chloride (D) magnesium chloride.
ST T T[0T T W §
() wferw wnEs § (B) Fieww wiEs #
(C) IHifEe FaEs | (D) HifiEm FEEe ¥ )
142. Heat required to increase 1° Celsius temperature of one kilogram water is
(A) 1 calorie (B) 10 calorie
(C) 100 calorie (D} 1000 calorie.
T el ot 1 o ferit Sfeasg a9 dg & fad siaeas s 2t @
(A 1% B 10
(C) 100 e D) 1000 S |
143. Image formed by a convex spherical lens is
(A)  imaginary and erect (B) real and erect
(C) imaginary and inverted (D) real and inverted.
TF IqA At 901 | whaforay = @
(A) TS wE i (B) arwfas TE i
(C) 3vIEl W Se (D) Tl T e |

144. For an incident ray of light, if mirror is rotated by an angle 6, then reflected ray will
rotate by an angle
(A) 6 (B) 26 (C) 90° (D) 0°.
gﬂmﬁamﬁw%%mw&mﬁ 6 =0T § YW fEa@n wmu @ Wafda o &1 gaE s

A o (B] 26 @ 90° (D) 0°.

(L [ PT.O.
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145.

146.

147,

148.

149.

150.
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A patient of hypermetropia is given spectacles of

(A) lens of zero capacity (B) compound lens

(C) convex lens (D) concave lens.

afe 3 % Wi T s e S

(A) Y U o B) fafwm o=a =

(C) 9 A" M (D) 3T9ad T F |

If E, be the peak e.m.f. of alternating current, then root mean square e.m.f. will be
W +E, B) E N2

© E,/2 D) E,/N2.

aft Wt o e fae wo w0 E R, @ &l Wrem g fHo ae Fo ghm

W  E, B) En2

© E,/2 D) E,/N2.

Detergent is a complex salt of

(A} Sodium (B) Calcium

(C) Carbon (D) Magnesium.

AqHSIF Sfed waw 2

() wifezm # B Hiewam w0

(C] e H (D) FEfTEE 7

Device used to send text and pictures is

(A) teleprinter (B) telex

[C) fax | (D) none of these.

Yo wd @ ) Yor ¥ oAU few Smew & Sy fee wmar 2

() i B) e

€ (D) T | *E T |

Which of the following mixtures of gases are used for welding of metals ?
(A) Oxygen + Hydrogen (B) Oxygen + Carbon dioxide
(C) Oxygen + Methane (D) Oxygen + Acetylene.
yrgel = afeen & fou f= & @ o6 i F fago & svEm fFm s g 2

() SRS + TTEGIT (B) SIS + FET SEIAHRS
() AredsH + fagm (D)  feisH + ufgfes |
Symbol of Tungsten element is

a w B T {®)] Te (D) Tm.
M qd H HhAIE §

@A w B] Tl (C} Te (D) Tm.

LT
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SECTION - IV (b) / @US - IV (b)

SOCIAL STUDIES / |THINGh AT

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions,

U EE H Fd 60 WA T | Fo7 el 3 3w fawa o1 wom fran & 3= oot v e sifverd ®

91. Who was the ruler of Kota during 1857 mutiny ?

(A) Maharao Ram Singh I (B) Maharao Ram Singh 11
(C) Maharao Madho Singh I (D)  Maharac Ummed Singh I.
1857 %! SIf<1 & HHT HIT FI IMEH o1
@A) wewd W fHE 1 (B) WHewd W {87 1I
() werE HH fHE I (D) wWEWE I f4E 1.
92. The famous Salim Singh Haveli is situated at
(A) Nawalgarh (B) Mukandgarh
(C} Pilani (D)  Jaisalmer.
wag ifem fie waef fera ?
@ T § B THETE H
(€ Toerrt | (D) SHARH |-
93. In which district is Gogamedi fair held ?
(A)  Bikaner (B} Ganganagar
(C) Hanumangarh (D) Churu.
g foer # Thmag) A @ § 7
(&)  sEAT B) TR
(C) wFIATTE (D) =& |
94. The fort where British General Lord Lake attacked five times, but failed, is
(A) Lohagarh, Bharatpur (B) Bala Fort, Alwar
(C) Mandalgarh, Mandalgarh (D)  Achalgarh, Abu.
a% foren, o9 W IS TR @1 @ 3 09 91 QR &, g 9he g, ¥
(a) TRTE, AR (B] =en faen, stereR
(C) WiEag, RigwTg (D) ¥T9erTe, A9 |

LT [ PT.0.
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95. The first President of Mewar Praja Mandal was

(A} Manikya Lal Verma (B) Balwant Singh Mehta
(C) Bhurelal Baya (D) Ramesh Chandra Vyas.

TETS WS AYSd & WgH 3neHe 8

(a) Wi o (B) rEq fdE fd

€ e w= (D) T =% = |
96. The main soyabean producing districts of Rajasthan are

{A) Ganganagar — Hanumangarh (B] Kota — Baran

(C) Bundi — Tonk (D)  Jaipur — Dausa.

TR | Wiy & JE I o €

(&) TR —FFAE B) ® — R

© H& —2F D) AR —
97. In which district of Rajasthan is Tungsten produced ?

(A) Bhilwara (B)  Udaipur

(C) Nagaur (D)  Jaipur.

oA & fre fe & e =1 S g 2

(A)  viferarsT (B) 3IRAR

() =ik (D) AR |

98. Rainwater harvesting is beneficial for
(A)  irrigation
(B) agriculture
(C) production of hydroelectricity
(D) improvement of underground water level.
o9l el HUEY AR R
() fesTE S fere B Ffuw fag
(€ v Taega SR « foe (D) fATa e W) gURA % A |

LD |
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99. In Rajasthan, cities located on National Highway No. 15 are
(a) Bikaner — Nagaur — Jodhpur — Pali
(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer — Udaipur — Dungarpur
(D) Jaipur — Tonk — Bundi — Kota.
o™ # T Teri- 15 W feom R §
(A) WHFR — AR — Y — et
(B) TR — SR — SEe — SIS
Q) AR — ATH— IZAR — TRE
(D) SAR — AF— §f — w2 |
100. The second highest peak of Aravali is

(8) Jarga (B) Ser
(C) Taragarh (D}  Achalgarh.
It 1 gEa Iwaqn faraw #
(a) wm (B W
(C) TR (D} HAESTE |
101. Which region of India is associated with ancient Gondwana landmass ?
() Himalaya (B) Ganga Basin
(C) Thar Desert (D) Deccan Plateau.
R T HH-HN TS W ST -9 | T2 g ?
(a) Tewre™ (B) W & AW
(C) ¥R T%Ed (D) e @ wReR )
102. In which type of forest is Sundari tree found ?
(&) Tidal forest (B) Temperate forest
(C} Desert forest (D) Mediterranean forest.
= g8 ford 7R & o H 9 S ¥ ?
(a) “EHE A (B) i 5
(C) wEEel = (D) YAEETRE 9 |
103. The cause of winter rainfall in Northern India is
(a) South Western Monsoon (B) Western Cyclonic disturbances
(C) Cold wave (D) all of these.
I uRd ¥ SiaeTet awl & wR ¥
(A)  <faroft afvest weEa B) ufrarht aswrarg fasiv
) A @ D) FH AT

NI AR VIR | PT.O.
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104. Sindri is famous for the production of

(A)  Petro-chemical (B) Cotton textile
(C) Chemical fertilizer (D) Cement.
fa=tt forad soare & fag wfag ® 2
@ - B gt T
C TEEF IHH (D) Hifwe |
105. On which river is Bhakra-Nangal Project located ?
(A)  Satlyj (B) Ganga
(C) Ravi (D) Vyas.
WS- i fe e W fem # 2
A) e (B T
©) et (D) =M |
106. The largest continent of the world is
(A)  Africa (B) North America
(C) Asia (D)  Antarctica.
gt &1 G TSI HEIE €
(&)  STRIEH B) U0 sEfEm
©C = (D) UweEhfeH |
107. ‘U shaped valley is formed by
(A) rivers B) glaciers
(C) winds (D) underground water.
‘U 3R &t wE fafda gt @
(a) A g ® Tt g
(C) T g (D) o < gNT |
108. In which rocks are layers formed ?
(A) Igneous (B) Metamorphic
(C) Sedimentary (D)  All of these.
WA o =gl A gl § 2
) mF B) FUIRA
(C) @Rt (D) QA+t |
109. The lowest layer of atmosphere is
(A) Stratosphere B) Troposphere
(C) Ozonosphere (D) Ionosphere.
AgAvSH St Haw e W €
(A) FEAIHTER - B) &vHYEA
(C) INSHvEA (D) AFTHTSH |
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110. The sea having maximum salinity in the world is

(A) Red Sea (B) Arabian Sea

(C) Dead Sea (D) Baltic Sea.

faver # waifus oo amen 9K ?

(A) T 9R (B) T 9R

© ¥dER (D) wifeess WER |
111. The number of Lok Sabha members elected from Rajasthan is

@ 21 (B) 26

() 30 (D) 25.

ToTE™ | Arehay % foe Fraffaa wewl +) ¥em @

@ 21 (B) 26

(© 30 (D) 25.

112. The President of India is elected by
() the people of India

'(B) elected members of both the houses of Parliament and State Legislative
" Assemblies

(C) the Prime Minister and Council of Ministers

(D) all the Chief Ministers.

WA 1 AP A1 S @

(A) 9RA F AR g

(B) WER & I Gl W& U faumew & fraifad 9ee g1
(©) v e Wiy % wewi g

(D) 99w GEFH>E g |
113. Who is the Supreme Commander-in-Chief of India ?
() The Chief of Army Staff (B)  The Chief Justice
(C) The President (D) The Prime Minister.
WA 1 F&= WA HIA ] 2
&) TG Sy (B) H&H SR
© Tgufd (D) WuHAT |
114. The Chief Justice of the Supreme Court of India is appointed by
(A) the Vice-President (B) the President
(C) the Prime Minister (D) the President and Prime Minister.
IRa § et = % T e st e s
(W  S9-Tguf B) gyl .
© wuEHR (D) Tgufd T wurEs

N [ PTO.
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115. Who is the Speaker of Rajya Sabha ?
(A) The Vice-President
(B) The Leader of opposition
(C) The Home Minister

(D) The person elected by the members of Rajya Sabha.
TIHAT 1 U D ST 8 ?

@A) I9-Tgufa B) fauy =1 wa

© TE (D) TG & W&l gl fraifea =afd |
116. The Constitution of India was adopted on

A) 15th August, 1947 (B) 26th January, 1950

(O 26th January, 1949 (D)  26th July, 1950.

IRt dfaum ary foean man

(A) 1534, 1947 H! (B) 26 S E, 1950 &

©) 26 Hal, 1949 = (D) 26 9o, 1950 %! |

117. How many fundamental duties have been mentioned in the Constitution of India
Part 4, Article 51-A ?

A 10 (B) 12
) 15 (D) 11,
YT |EY™ 9T- 4, ST7% 51-T H AN & fohaw 7ot e aftla § 2
@ 10 (B) 12
) 15 (D) 11.
118. When was the first meeting of Constituent Assembly held ?
(A 15th August, 1947 (B) 26th November, 1949
(C) 9th December, 1946 (D) 26th January, 1930.
dfqum fmfst a1 F1 gecl d8% A RIS TR of ?
(A) 15 37T, 1947 (B) 26 =R, 1949
© 9ofcw=R, 1946 (D) 26 SR, 1930.

119. In the Constitution of India the number of Fundamental rights after 44th Amendment
is

@& 6 B 7

© 8 (D) 5.
IR Wfaam # 44 3 €A & vER g0 AfER S g §
@ 6 B 7

© 8 D) 5.
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120. Which is not a characteristic of the Constitution of India ?
(A) Democratic system
(B) Fundamental rights and duties
(@] Employment guarantee to every citizen
(D) Independent judiciary.
YR wiaum #Y HH-d fadmm 7 € 2
(&) YIS g
(B) T AHER T FA
(C) V& AN ! USHIR i GIA
(D) &A= FEUIfeTeRT |
121. Who was the leader of First War of Independence ( 1857 ) at Kanpur ?

(A) Tantya Tope (B) Laxmi Bai
(C) Nana Sahib (D) Kunwar Singh.
RA F FUW T GUW (1857 ) 1 FEGR H Age R foran on 2
(4) e A B) e
(C) N e D) P g |

122. Who is the author of ‘Majha Pravas’ written during 1857 ?
(A) Vishnubhatt Godse (B) Sitaram Pandey
(C) Narget (D) Mangal Pandey.
1857 % <R fafad T " yarw’ F dww ¥
() oo Med B) M qveE
0 TR (D) ¥ LT |

123. Who has given the title of ‘Rani’ to Gindalau, the great Naga female leader ?
(A) Rabindranath Tagore (B) Mahatma Gandhi
(C) Jawaharlal Nehru (D). Subhash Chandra Bose.
T A e ey T @ sy R @ o 2
() ey TR (B)  HETe TR
(C) TEEEE TE (D) [IN I 99 |

124. In which language has Mahatma Gandhi written his autobiography ?
(A) Hindi (B) Marathi
(@) Gujarati (D)  English.
et e A ST SewsRen fRe v F et ?
@ &= B "t
C) Tt (D) ST o

L [ PT.O.
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125. In which year did British Parliament pass a law through which has taken overall the
rights from East India Company ?

(A) 1858 (B) 1859
(O 1860 (D) 1861.
ffen dug = form ad = vw W §= ifew w0t & T stfver &9 el 2
(A) 1858 (B) 1859
(C) 1860 (D) 1861.
126. The meaning of the word ‘Dastak’ is
(A)  Slavery (B) Factory
(C) Port (D) Duty-free trade.
IR T e i
@ e B ¥
(C) «<TmE (D) X b AR |
127. Who was the ruler of Chittorgarh during the invasion ( 1567-68 ) of Akbar ?
A Maharana Pratap (B) Maharana Udai Singh
(C) Jaimal (D) Maharana Amar Singh.
TheR % fedige W ABHAY ( 1567-68 ) F THI IEl 1 WEeh HiF o ?
(&) TERMN ¥ (B) TEWN 354 fHE
C) <A (D) e 7R &% |

128. Which of the following Mughal emperor’s reign was known as the golden period of
Hindi literature ?

(A)  Aurangzeb (B) Akbar

(C) Jahangir (D) Shah Jahan.

e T SIREE % HI H sl difeca 1 U g HET @1 T ?

@  siror B) N

(C) R (D) weEsEl |
129. The French traveller who visited India for six times was

A Menucci | (B) Bernier

(C) Thavenot (D}  Tavernier.

FH-Q FRAH 961 7 B8 IR WG & G0 62

@ wE B =

(C) & (D) TR |

HRI
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130. How many ranks of Mansabdars have been mentioned by Abul Fazl in his

131.

132.

133.

134.

135.

Ain-e-Akbari ?

a 22 (B) 33

) 44 (D) ©66.
HEA-T-IHA | 3GA Hoel 7 AHagR] 1 fhart Sl &1 Seore fdan § 2
a 22 (B) 33

A 44 (D) 66.

The tomb of Sheikh Salim Chisti is located at

(A) Agra (B) Delhi

(C) Fatehpur Sikri ' (D) Ajmer.

3@ T fovdt 1 Tehemr wal feom € 2

(&) o R B) feoeit o

(C) waeR Hwdt | (D) SR H |

The author of ‘Nuh-i-Sipihar’ is

(A)  Amir Khusrau (B) Malik Mohd. Jaisee
(C) Dara Shikoh (D)  Sheikh Nizamuddin Auliya.
‘¢ fafeey’ & =R ¥

@A) R gwd B) wfdw Aewwr SrEE
© =x frEe (D) g FremgE sitfemn |
The chief centre of Chisti School in South India was

(A)  Gulbarga (B) Golkonda

(C) Bijapur (D) Bidar.
gfegont wRa | Tavdt faafas &1 w@ S5 o

@ T B egST

€ siSTR (D) S |

The place where Saint Dadu died is

(A) Sambhar (B) Amber

(C) Narayana (D)  Pushkar.

= 5. 9] Fohe T W g ?

@ FW B) 3R

(C) =rman (D) Y=Y )

Where Saint Jambhoji was born ?

(A)  Pipasar (B)  Gagron

(C) Jaitaran (D) Nagaur.

1 RISt 1 ST el goT o ?

&) R (B) TWRHA

€) AR (D) AR |

[ P.T.O.
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136.

137.

138.

139.

90 [D]

The famous trade centre of Far West during the Gupta period was

(A)  Vidisa (B) Purushpur

(C) Ahichhatra (D)  Paithan.

W e § ggX uived | yfag =i s o

) fafem (B) IRUR

© == D) ¥7 1

The National emblem of India has been taken from

(A) the pillar of Sanchi (B) the pillar of Sarnath
(C) the pillar of Allahabad (D)  the pillar of Lumbini.
Ra 1 U fag foan mr ¥

() G ' d (B) U™ W W

(C) sEERE &Y | (D) qhatTHH |

‘People did not lock their houses.’

About which ruler has Fa-hien written this ?

(A) Ramgupta (B) Chandragupta I

(C) Chandragupta Vikramaditya (D) Samudragupta.
e R dren T e 9

w3 g wes & aR # Tw fawn § 2

(A) THTH (B) =TI

€ == fawAicE (D) 9HTE |

The famous temples of Mahabalipuram were built during the reign of

(A) Pallavas (B) Cholas

(C) Chalukyas (D)  Kakatiyas.

RIS % Yfag T fFe wee & wee & of=efa am 2

@ T B =

C) g (D) A |

140.

For the first time, in which period of Indian History was the registration of birth and
death of people introduced ?

(A) The Age of Mahajanapadas B) The Gupta period

(C) The Kushan period (D) The Mauryan period.
R 3fae # vgell 9 &Rl % 51 T o o st TR e # o T 2
(A) HENHYS Hd (B) TH

(C) I HA (D) W w |
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141. Which Harappan building was considered unique in its built in the world by Sir John

- Marshall ?
() The Great Bath (B) Granary
(C) Assembly Hall ' (D) Fort Palace.
frE ETSHERRH TARA &1 W S ARl 3 fova *1 T igya fmio a1 ?
A)  FE| EATR (B) SR
(C) |W WA (D) TiHed |
142. "In India there is unity in diversity and diversity in unity.” Whose statement is this ?
(&) A L. Basham (B) V.A. Smith
(C) Max Muller (D) Jawaharlal Nehru.
‘T B ThaT H Sehar 3R ST H Ukl § 1 98 YA fFEw € 2
(&) To Telo SR H B o To g
) Bag TR E (D) AR EE F |
143. From which Indus site the evidence of ‘Fire pit’ is found ?
(A) Harappa (B) Mohenjodaro
(O Lothal (D)  Kalibanga.
frdefFadmemd'afmge Faa g ?
@) EFS (B) HESIES!
(C) e (D)  ShIHST |
144. What is the main source of information about Indo-Greek rulers ?
(A) Travellers’ account (B) Coins
(C) Buddhist literature (D) Jain literature.
fe=-FAF El F TR H FIEER H A W R ?
@) il & ga B fawn
(C) dig wie™ , D) N wfed |
145. Geeta is
(A) Veda (B) Independent Epic
(C) a part of Ramayana (D) a part of Mahabharata.
T ¥
@A g (B) ¥&d HIHA
(C) T F TE W (D)  ETHRA 1 TH T |

LI | [ PT.O.
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146.

147.

148.

149.

150.

92
The main characteristic of the Indian society is
(A}  unity in diversity (B) illiteracy
(C) self-sufficiency (D) regionalism.
YRAE §9 St T fawar ®
(A)  3Fhal H THAT B)  fwiam
) EeaEA D) wRfREsa |
Urbanization is the result of

(A)  educational development

(B) rural development

(C) migration of population from villages to cities

(D) agricultural development.

TR aftoms ¥

@) Ny faw W (B) Tty foerme
(C) UM § TR hl SN TSN GAHA H (D) HIY fqh &1 |

Regionalism is the main cause of

(A) poverty (B) social tensions

(C) unemployment (D) globalisation.

SEIRCICI Rt AC U

@A) TRE = (B) wHIfse FET &

(C) SR &1 (D)  S¥ETHTo & |

Apart from subject contents, a social study teacher should have knowledge of
(A)  objectives of teaching » (B) methods of teaching

(C) techniques of teaching (D)  all of these.

QISR 1899 % LA 1 favg-a%] & W-9i g EH A@fey

) Tasn & e W B) fam fafudi w1

(C) foeror qehHtR 1 D) THIFA |

Which is not a cause of poverty in India ?

(A) Unemployment (B) Rapid growth of population
(C) Education (D) Large size of family.

wRA H Tt % fAC SF-w R ARl ¥ 2

@ ST (B) v swEen gfs

© Toan (D) o&d IfER |
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INSTRUCTIONS
( Read carefully and comply / Wﬁ(mw e Eb'\!‘)
IMPORTANT /

In Sectlon II (Lan, 8uage I} a_candidate has to attempt the questions of the language which the candidate has selected as
age I in the nline Application Form.

@vsn I 1) | IE AT F A H oo FEAT S ¥ R A g vt X 9Ty [ % 69 § AT Sae-aT § e 2

In Section III (Lan age 1) a candidate has to attempt the g}luestxons of the language which the candidate has selected as
Language Il in the lme Appllcatlon Form, The Language II will be different from | Language

UL 11| § T T F W Bl gl HCN A & [ T BT 94 e A o 1 % w9 A ﬂéﬂ-ﬂ'ﬂ'ﬁﬁﬁm%IWlWll'@ﬁﬂﬁfﬁl
The candidate mqst ensure that the Question Booklet No. has been filled correctly at the prescnbed places in the OMR Answer Sheet.
et OMR ¥iE & W WA FHIE Tl W

The candidate has to answer of that subject in Section (IVa) Mathematlcs and Science or (IVb} Social Studies as selected by the
candidate in the Online Application Form.

If a candidate answers the questions of the lan dgua\ge or subject other than selected in the Online Application Form, the
candidate shall be personally responsible for it and it would be treated as wron,

z ﬁwmﬁig‘r@%{m}nﬁm@ﬁaﬂm(wmmaw aﬁéw%Mﬁmm%%mﬁwmwamﬁ
uﬁamzﬁ SFeE STaEH U # =g W 41 fawa o WAl # g9 7 Fh IFg A 1 3 fa % wwAl i w € | a8 angel
T F FEERI gt ar ot JE S

10.

11.

12,

13.

14.

Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer Sheet and Sl. No. 1 to 4 in the
Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanmng of your Answer Sheet.
!iﬁﬁoun gm1#4wmgﬁa¢r(ﬁz)ﬁﬁuu&mwaﬁ%#
7 EEIER %?ﬁounvﬁzﬁﬁ?ﬁm FoREEY @ I TR % 9 ey & SeReE

OMR Sheet No. should be written in the space provided in the Question Booklet.
OMR itz Feam W YR &t it Freieer T o forah <t =i 1
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates
will open the Question Booklet seals, Check whether the Booklet contains 150 questions starting from Page No. 3 to 92
et H 96 TS Wd 150 W &) Wil R R 9 & IW @ W g | | T8 W A & av gftawn |
150 WA € it 5 U W@ 3 § W g 02 A ¥
All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one
mark. There will be no negative mar for wro
it W TR WER & ¥ IR Y B0 %%lmm%hﬁﬁmﬁﬂmw%lwmtﬁﬂmmﬂﬁﬁﬁaﬁm
All questions other than language nestions of Sections II and III shall be bilingual.
WY UF % WINT U WUE [0 U I & Wt & afaRe A et avet & wee fgwnlia gt
In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in
1%1.‘_.|qe,\rstxon/s during the examination,

o orel ¢ o for9, T ) Rl S 1 e e gl | e i vy % e o Reeh Yo o e i e s
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet, No additional paper shall be prowded
T8l YR % T® S ¥ W YR F I 5 m%q T W g A T wS | T s e s Saere T e e

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not
allowed. Their use will result in disqualificatjon.
r«rmgaﬂfmq?awﬁﬁ %wﬁ%m%ﬁmmmwmmwmﬁwm/aﬁwmaﬁmhm

OMR Answer Sheet Wlll be provided along with Question Booklet separately.
OMR ¥ite, U¥ % WY AN W& st A |
The Questxon oklet will be issued at 1:45 P.M. and the candidate must fill all entries in Question Booklet and OMR Answer
Sheet. The Question Booklet seals shall be opened at 2:00 P.M. After opening the Question Booklet, ensure that any page/
question is not missing / not printed / torn l/ repeated. In case, g'ou find any defect anywhere in the Questxon Booklet, immediately
inforxi_r)l ltlhe 1llnv1g11ato§ grold %/It it replaced within 10 minutes by the Invigilator. Warning Bell will ring at 3:25 P.M. and the last
ong bell will ring at
amvﬁﬁm ﬁfm145ﬁﬁmﬁrﬁlawﬁwwmﬁmg%waﬁ?omvﬁzﬁmﬁuﬁ&ﬁﬁﬁlm aﬁﬁm
1 Wi 1 TG 2:00 T ¢ 97 GREAHT Gier! F G791 Gl qeprer a8 AT FT | [F SeH i 369 78 aga
aﬁ%/wé@%/wwa?ﬁaﬁ%mﬁéw w%luﬁmmaﬁaﬁéaﬁwm%ﬁmaﬁwaﬁ e
10 fime & +iieX digs @ 1w ﬁmai'—?i Y 3:25 W IO T W ol 92 IR 3:30 W
Write your Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Slgnature in the
space_provided in the Questlon Booklet as well as in the OMR Answer Sheet
prel T OMR ¥iE WX FHIRG &9 T WRIET %5 F1 HIS, et TR, OMR VIIZ T, ¥ GRAHT i, 79 o 7 3T a1
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to ¥‘ou is correct. Indicate your answer by darkening the appropriate circle completely in the OMR
Alrllsweg Sheét Qorrespondmg to the question. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
allowe

Yo SV % IR 9 IW A, B, C T D ¥ Rl M E) v A ww ¢ 9 T IR H G5 I ITF I Hl OMR Ve #
ggaw%wéawafaawﬁﬁﬁmmsﬁaﬁnmﬁwﬁ#% et A et A 9T O ITET B S 9 1 W 1 ImE

CORRECT / W&t Wrong method : WRONG / T8 WRONG / 7T& 9 WRONG / TTetel WRONG / 716t

OO0 @ |mw=: [KOOO| |OQ00| |0000| |Ce0 e

Correct method :

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account

shall be of the candidate only.

ounvﬂzﬁ'ﬂrmmw%%&mw%luﬁmmwomﬁzﬁﬁﬁﬁﬁ%ﬁwwqﬁm Al I FR

ST YA HST B IR | T HROT F g B e et o+t SRR 3uE @ et

Ng cailéu]i:}ig:}alte %hcéuld leave 3116 Exax}r;lr}atlon] Hallbb(irforcl the final beEl’l‘ The Ques]t._llorlll Booklet as well as the OMR Answer Sheet

shou anded oyer together to the Invigilator ore leaving amination Ha

:i}éqﬂwﬁa?ﬁqaﬁmﬁwé £ e ot o ‘73'211 BT & Y4 el OMR e T W YT At & e
T A |

LT



